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What do you understand by denting of vehicle ?
Mention the tools and equipments required for the
same.
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Time : 3Hrs. Sem - VI-Mech(Auto)
Vehicle Maintenance

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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9.

10.

NT6039 NT6039

What are the common troubles which are likely to (ii)
occur in a mechanical or an electrical fuel pump ?

Describe also the probable reasons for the same.
6

Jife vd fagd o vvu 4 gIfda amr
Ffedr @1 & ? g9 dwifad el @ 84 @
RN BT qui N |
(iii)
OR (3121d1)

Discuss in detail the complete procedure for
overhauling of the clutches. Mention also the
important precautions.?
(iii)
Fad @ AMwREiflT & yof fafdr &1 afewr
Y | At & Ayl wraenfar &) sifea
Y |

Discuss the causes of common troubles experienced
in the suspension system of an automobile and
suggest appropriate remedies in each case. (iv)

IS & G Yomell § 819 arel)
I Ffeal & FROT & WHSY U ydAS
Ffe & ford Sugaa RIS &1 g3ma |
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qP BT ST ATfay |
(31) 15 ge+1 Hiex
(@) 50 =ge #Hex
(&) 150 ge+1 Hiex
(%) 1500 =ge- #Hrex

The crankshaft bending should not generally
exceed.

(a) 0.008 mm

(b) 0.08 mm

(c) 0.8 mm

(d) 8 mm

(31) 0.008 #HioHio
(9) 0.08 HioHlo
(|) 0.8 #HioHlo
(®) 8 HloHlo

The engine overheating may result due to
(a) Radiator pressure cap stuck closed
(b) Thermostat stuck open

(c) Broken fan belt

(d) Excess coolant in the system
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OR (3121an)
Describe in brief why and how the adjustment of
doors and locks are done ?

I 3R DY Al UG droll &l GrH-oi-
fpar wiar @ ? 989 # quie &Y |

GROUP -C
Answer all Five Questions.

Il uig 9 & SR < |

7. Describe how will you remove, service and re-install

6x5=30

the piston, connecting rod assemby ? Mention
important precautions to be observed.. 6

NT6039

(vi)

(vii)

(vii)

5 1633604
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(@) @9 vd 39 & d9 8 drd
Raadrd & ARl & HH A 2 |

(@) ysaers & T & HROT a1 B
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(W) dred @ I HUR BN 91l drel Bl
qerdar @

(?) o Ty 3 fAfder vu q =
GIRCACRIS IR

The characteristics that is enhanced by honing
of cylinder sleaves inner surface is.

(a) Cooling efficiency

(b) Resistance to wear

(c) Lubrication performance

(d) None of the above

fafersr w9 @ Niad gag o1 afvT
g1 fagiyaren & deraT orar 2, 98
..................... 2
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(@) ferama &1 faxier &=Ar

(W) Vig®d YA

(]) SWRIad & & g T8

P.T.O



O'Ld

L3 ArI2 (1)
119 31kddk 1d ARID (1)
- BR] UnmR) Mgk dh Bl

uonejor ALY, (1)
2143 Jo SurzruednA (1)
:3UIMO[[0] 9} UO SIJOU 1I0YS LI

aglie @b (11)

242 P2 (O

| &R

UamR) bigjh 2h BrRiglle 1R1he Dellbtly

10p10 10 (11)
129ys A103sTH (1)
:$p10231 doys-310M SUIMO[[0F Y} UO SIAJ0U JI0YS MLIA\

(IlpriR) MO

| bIDP RIhD @ Ind@RL] ®R3 | 2d Dl 1®
Undle @ Dhe RRlE @RS b I 1k 220k

14
"SOIPAWAI $31 35933 NS OS[Y "AUISUD d[IqOWOINE UL

ur uondwnsuod [10 SAISSIIXI JO SISNED dY} UOTIUIA]

'S

P09€€I1 S1 6€091LN

IDkE? BRE hd bh lodbd Miohd ()
blRRB] ARID

BlhiRie bd bhid kb RIZ kyRIPY (B)

LR(Pd 18 bi lodbd diokd (k)

kIR ®RI>Xd bh kRIPpY 18 (k)

|2 1@
ARAER lehdp DB LRD.RIE & R

Koudroyyo
[0 PAONPAI PUL UOIIBIIIIIE 1004 (P)
JeOM Q1K)
UJAJUN PUB SUONBIQIA [99Uym FuLIdAS (0)
3uLI193)s pIey pue uoneId[ddde 100 (q)
opu piey pue 3uLds pieH (e)
9Je QdUB[RQUI [99UM O} pasned swd[qoid oy,

I
IDre 2k Rle B @l (Plak L@lp ()
2 b2 &I Wib p L3R dp (B)
2 b2 RpD »p (b)
2 bejm op (k)
BB '3 B2
ke R Bl DIZpk) I [ RSh &F bin

suonounjew wolsAs unyelq yoomuy (p)
SauI] 9yeIq Y} Ul SINdd0 Juryoo[ anodep (9)
sopej aerd (q)

s3eip ayerq ()

o uay ‘onfeA pagroads oyp

uey) ss9[ st Aeyd 221y [epad oyeiq oY) UdYA\

6€09LN 9

(x1)

(x1)

(1114)

(1ma)

P09€€91



1633604 14 NT6039

OR (3121d1)

Describe in brief the run out of main shaft and lay

shaft of gear box.

iR 97 & g3 o7 3R o g1 & H
ATHe BIF BT W&T H qUid & |

Write down the causes of troubles in propeller shaft

of a vehicle and suggest their remedies.

Hex ML) & YIUeR IMYe d Tsdfedl &
HRUNT Pl ford Ud SO fARIHRT & SUr™y
9d1d |

OR (3721d)

Describe the method of calibration of fuel injection
pump (FIP).

W[ g9deH U & dfadad fafer &1 quia
B |

NT6039

x)

x)

(xi)

7 1633604

If the engine coolant leaks into the engine
oil, then engine oil.

(a) Appears Milkey

(b) Becomes foamy

(c) Turns black

(d) None of the above

Siq oA eiadd 3o 3iiaa REE

@) gu ST fa@ar 2
(d) SR 91 ST @ |
(1) BTaT & SITar 2 |

(?) SIRiad ¥ & B3 T8

When the front wheel of a vehicle are

locked during the brake, then

(a) Stopping distance becomes extremely long

(b) Front tyres & kid across the road surface
and the vehicle spins around

(c) Steering wheel, steering shaft steering
gear box, tie rod etc are locked.

(d) Driver looses control over the steering
and vehicle continues moving its current

direction
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(xix)

(xix)

(xx)

(xx)

12 NT6039

The excessive clutch clearance caused by
improper adjustment or wear of sliding
sleeve, generally results in

(a) Clutch slip

(b) Clutch failure to engage

(c) Clutch plate overheating

(d) None of the above
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One effect of a punctured carburetter float is
(a) Weak mixture

(b) Low petrol level

(c) Petrol flooding

(d) Rich mixture
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(xiii)

(xiii)

(xiv)

(xiv)

9 1633604

The operation of removing trapped air from
the hydraulic braking system is known as.
(a) Trapping

(b) Tapping

(c) Bleeding

(d) Cleaning

gsgifad dfHT yomrell 9 »U g &1
frere @ ufpar &1 ST SITdT 2 |
(@) <f

@) 2fr

(|) =ehifsT

(g) wefifr

In a clutch coil spring, the wear of the clutch
facing will cause the clamping load to.

(a) Increase

(b) Decrease

(c) Remain constant

(d) None of the above

Ford dardel ST H, Ford BRIT BT
forara, FelfdT A D oo BRI
T
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